W10 00 VTS \ N O 00 O

KT RFHMY

FE. MER

ERoN’ ATRD

SPRING SCREWS 6892 No.E-9491
AV T
s EE12$76892
C E
‘ 5 mﬂ r
.G
[l M
<
H
Wi
iTas e ERERE (BF) & FHLA
916559 6892-3 M5X0.8 6800-3-6802-3-6803-3-6820-3-6830-3-6832-3-6833-3-6895-3
916560 6892-4 M5%0.8 6800-4-6802-4-6820-4-6830-4-6832-4-6895-4
916561 6892-5 M5%0.8 6830-5-6832-5
916562 6892-6 M8%1.25 6800-5-6-6802-5-6820-6-6-6895-6
B A B C D E F o 6o HEH . ERg
6892-3 90 30 20 8 15 55 M 8X1.25 M5x%0.8 42
6892-4 80 30 20 75 ¢ 15 55 © M 8Xx1.25 @ M5x0.8 : 42
6892-5 90 30 20 75 21 5 M 8%1.25 M5x0.8 42
6892-6 123 40 30 9 | 24 6  MI12X1.75 = M8x1.25 145

ERoN’ AMFD

RUBBER CAPS 6893 No.E-9494
=1
B K 1E6893
T RS MR
(FEEHBS70. 3Kk/23N/mmX] fit#iERE-25°C~100°C)

O R AFKZIBSTER,

OE

OF

‘
V17 L,,,%,,,\A
= ‘ ' o
) U S — | o0

W&

TR ne EFEET A B . C - D | E F G H EEg
916570 | 6893-0 M 4 11 8.5 6 5 8 6 45 3 1
916571 6893-1 M 5 12.5 10 8 « 65 85 7 55 4 1
916572 | 6893-2 M 6 15 12 10 8 11 9 6 4 2
916573 | 6893-3 M 8 19 15 13 © 9 155 ¢ 115 ¢ 75 55 4
916574 | 6893-6 M12 26 20 19 13 21 17 10.5 8 10
109498 | 6893-8 M16 33 27 24 19 25 . 155 . 13 . 105 = 19

http://www.nabeya.co.jp



